
6 ÷ 2 =
	The method I would use is: 

Sharing: Sorting circles and dots
Grouping: Counting in multiples of 2,5 or 10

	Here is another calculations which I could use the same method:  

	Here what my working would look like:







	I selected this method because __________________________________________________
______________________________________________________________________________________________________________________________________________________________________________________________________


TOP TIP: Remember to mention the size of the dividend. Also, you might like to mention the divisor. Is it something that you are good at skip counting in?

[bookmark: _GoBack]40 ÷ 5 =
	The method I would use is: 

Sharing: Sorting circles and dots
Grouping: Counting in multiples of 2,5 or 10

	Here is another calculations which I could use the same method:  

	Here what my working would look like:







	I selected this method because __________________________________________________
______________________________________________________________________________________________________________________________________________________________________________________________________


TOP TIP: Remember to mention the size of the dividend. Also, you might like to mention the divisor. Is it something that you are good at skip counting in?


9 ÷ 3 =
	The method I would use is: 

Sharing: Sorting circles and dots
Grouping: Counting in multiples of 2,5 or 10

	Here is another calculations which I could use the same method:  

	Here what my working would look like:







	I selected this method because __________________________________________________
______________________________________________________________________________________________________________________________________________________________________________________________________


TOP TIP: Remember to mention the size of the dividend. Also, you might like to mention the divisor. Is it something that you are good at skip counting in?

60 ÷ 10 =
	The method I would use is: 

Sharing: Sorting circles and dots
Grouping: Counting in multiples of 2,5 or 10

	Here is another calculations which I could use the same method:  

	Here what my working would look like:







	I selected this method because __________________________________________________
______________________________________________________________________________________________________________________________________________________________________________________________________


TOP TIP: Remember to mention the size of the dividend. Also, you might like to mention the divisor. Is it something that you are good at skip counting in?



